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41) Raflo of the eficiency of A and B 1§ 3:2 ind A 3x et k 360
the eficiency of A Is 200% mory than that of C. B> fx v Noc=3)
If B and C together can complets the work in 60 o= X U I A
days, In how many days A and B together can
mmf\— (’B'{‘C)Xéo - Tawd Waeit .
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times the present age of Arul. Find the

difference between the present age of Arul's Qu-Y =6 (n- 4) 2= 4
father and grandfather? . @
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E. 35 years ﬂ’ﬁ?ﬁ . g?/ d d)
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44) Ratio of the Marked price to the cost pfice of d cof —> ("
the lapop 18 9:5. The s ca @
successive discounts of (20%

respectively. If the shopkeeper 80id It at 8
discount of 35%, he would have
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scheme attherats o7(i 0% per annun Amounk = P4 7 §

Lot o1+ 13
terest scheme at the rate of 15% per annum-
brayiumlmunoonodon-olmph ) - ff\ )
Interest scheme |s Rs.750 more than that of a 1“}UMP ) ,:M(
compound Interest scheme. Findthe value of x? | |lf\"l| - Qu—\ooo> (\-l) - (Mloo@
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Directions (46-50): Study the following 45000 F S. _ ‘LYOOO
Information carefully and answer the questions 40000 4 — = Z - —7’
glven below. — f ot
The given line graph shows the number of o
graduated people and the number of post — F = ’;}Y\KOO
graduated peoplemEve different wllages.\ 209 1 [
20000 1 —55—00‘0 .
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50) Ratio of the post graduates people|n E and 10000 1 0
F 18 5:7 and the number of graduate people In F -y PR wF= 3500
Is 4000 more than the number of graduates s £ = (99000
peopleinB. I the rato of the number of male to S . " - n hwt =
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Directions (51-56): Following question contains L.
two equations as | and 1. You have to solve both [~
equations and determine the relationship b Y q
between them and give an answer as,
§1) 2qn ~ fn A SN =0-
X2 -15x+54=0
My -4y-117=0 W(”\"") _I’QLJD =0 -

- () (-9)=0 6



|;)y’-4y- 117=0 n(’h-‘l) _(,QL_GD -0

o ) (n-4)=0 @
\’21 S—— 2 (x-) (x-4) ,
D.x<y j—Qj@’—D‘ )1-|'53+1j—“3“£°
E.xsy ,\'/b‘b\q ' j(};-ﬂ)-\—‘\(‘j—l@ =0

COLTR



